
MSONST

Nein JaZMVB = 0

ZMVB
12

Nein JaSONSTB
= 0

MOSONST

UPVKV

ZRE4J = (JRE4
+ SONSTB) /

100

ZVBEZJ =
(JVBEZ + VBS) /

100

MRE4SONST

MLSTJAHR

UPVKV

VKVSONST =
VKV -

VKVSONST

LSTSO = ST *
100

STS = (LSTSO -
LSTOSO) * F

Nein JaSTS < 0

0

Nein JaR > 0

BKS
STS

SOLZS = STS
* 5,5 / 100

BKS
0

STS

VKV
VKVSONST

STERBE
VBEZBSO

0
VKVSONST

0

Anmerkung:
Negative Lohnsteuer auf
sonstigen Bezug wird nicht
zugelassen.

ENDE

LZZ
1

LSTSO

0
STS

0
SOLZS

0
BKS

Berechnung sonstiger Bezüge nach
§ 39b Absatz 3 Satz 1 bis 8 EStG

Euro

Cent
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